11

11. 1
10
P(X,Y,2)
P(X,Y,2)
op Op Op
X1 oy o
op. Op. O
A=5i+gj+ak=gradg
i,J,K X,Y,2

grade

gradp = Ve
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4

XY,z

(11. 1)



0 - 0 - 0
V:ax'+ayl+azk

p(x,y,2)=0
X % X,Y,Z
X Y=V1,2=1;
¢ @(XY1,21) @(X) X
X=X1
V1,21
p(X,y,2) X y,Z
Y,Z

@ =Xxy*+3zy + 2x°z

2L _y2 4 dzx
%:2xy+3z

0
= =3y +2x2
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Vo

v =8i+7)+8k

11.2

u="f(xy) X,y t
X,y

x=9(1),y=h() ot

udx | oudy

du
dt — ox dt T oy dt

u="f(xy) X

(11.2) dt dx
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(1,2,1)

(11.2)

y=9(x)



d d
F=EetyR=-S+9% (11.3)
v="»(x,y,2) Z=9(x,y)
v
OX
N N, vOIXY)  ov | ov.99xy)
OX — OX OX oz ox — 0oX oz 0OX (11 4)
11.3
S p(X,Y)
S n S
DxDy S

S = Dx;1Dy; + Dx2Dy> + ... + Dx,Dy,

S pP(X1,¥1), p(X2,Y2)-..

M = p(X1,Y1)DX1Dy1 + p(X2,y2)DXx2Dy2 + ... + p(Xn, Yn)DXnDyn

M

M = lim[p(X1,Y1)DX1Dy1 + p(X2,y2)DX2Dy2 + ... + p(Xn, Yn)DXnDyn]

n—oo
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M =] |5 p(x,y)dxdy = [ p(x,y)dS (11.5)
DxDy DS
Dx, Dy
S Xxvy
11. 1( 1)
p (x.Y)
& P (xy) 2
VAN
S
M(Y)
a | b x
M(y)
a b x (©)
m
11. 1
c d vy
S y=Y( ) pX,Y)
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11. 1(2)
y=Y M(Y)

M(Y) = {3 p(x, Y)dx

Y ¢ d y
11. 1(3)
My) vy
M = [ M(y)dy
(11.7)  (11.6)
M = J¢ I3 p(x, y)dxdy

(11.5)

[ §s pOc,y)dxdy = J2 12 p(x, y)dxdy

P, Y)

p%Yy) X
y =
v o(X,Y,2)
vV 7= Z( ) v
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M(Y)

(11. 6)

M(y)

(11. 7)

(11. 8)



p(X,Y)

J 11, a(x,y,2)dxdydz = [ [ 3 o(x,y, 2)dxdydz (11.9)
dxdydz
dv

I11, a(xy,2)dxdydz = |, a(x,y, 2)dv (11. 10)
11. 4
[ 1> [ ]

W=Fxs (11. 11)

W : F S
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Ds n

s=Ds;+Dss+...+Dsj

(11. 11)

W =F x(Ds1 +Ds3 + ... + Dsp)

=FxDs1+FxDsz+ ...+ FxDs,

FxDs; DW;
W =DW; +DW,; +...+ DW,
w
n
F
F Mo
Fp FD'”D
( 11.2)
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(11.12)

DWq, DW;...



B
n .n
F
A
X
11. 2
n Ds
Ds Fo
Fp
P
A Wag
m (11. 13)

DW; =F;-n1Ds;
DW, =F,-n,yDs,

DWm = Fm * anSm
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Ds

(11. 11)
DW,

(11.13)



Wag

WAB ~ DW1 + DW2 + ...+ DWm

~Fi1-nDs;1+F>-noDso + ...+ Fpy - NpDSyy

DWq, DWo...
WAB m — oo
Wag = [im(DW1 + DW; + ... + DWp) (11. 14)

= lIm(F1-n1Ds1 +F2-Nn2Dsz + ... + Fr - NmDsm)

Wie = [ F - nds (11.15)
B
Wag =[5 F-ds (11. 16)
F
(11. 16)
C
We = §cF-ds (11.17)
ds
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ds = dxi + dyj + dzk
(11. 16)

Wag = [ 5 (Fyi + Fyj + F2K) - (dxi + dyj + dzk)
= [>(Fydx + Fydy + F,dz)

A(Ax,Ay,Az), B(BX1 By, BZ)

Wag = [ Fxdx + [ Fydy + 27 F.dz

Wag

F+(-F)=0

Fl+|-F|=2F
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(11.18)

(11.18)

(11. 19)



11.5

DS
DSn = DS
@

pDS

A-DS
A x DS

S DS
m S

S=DS;+DS5 +...+ DS,

DS

DSn; +DSns +...+DSny = DS, + DSs + ... + DS,
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(11. 20)



S'~DS; +DS, +...+ DS,

m — oo

S'=|im(DS1+DS; + ... + DSp)

(11. 20)

@
®1,02 A Ay A

[im(p1DS1 + ¢2DS2 + ... + PnDSm)
lim(A1-DS1+Az-DSz+...+ A - DSn)
[im(A1x DS1+ Az X DS; + ... + An X DSp)

jS QDdS = ||_I:g(§01D81 + (02D82 + ...+ QDmDSm)

m

§3A~dS=Mm(A1~DSl+A2~D82+...+Am -DSn)
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(11. 21)
(11. 22)



JsAxdS = |Im(A1xDS1+A;x DSz +...+ An xDSm) (11, 23)

(11. 22) (11. 21)
(11. 23)

$spdS
$sA-dS
§5AX ds

(6.8)

n =icos(n,X) + j cos(n,y) + kcos(n, z)

dS =ndS (11. 22)

Js A-dS = [s(Axi+Ayj +AK) - (i cog(n,x) +j cos(n,y) + kcos(n, z))dS
= [s(Axcos(n,x) + Aycos(n,y) + A, cos(n,2))dS (11, 24)

dS xy dxdy
(n,2) ( 11.3
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S

|4

dxdy

|

11.3 as  xy

dScos(n,z) = dxdy
dydz, dzdx

dScos(n, x) = dydz
dScos(n,y) = dzdx

(11. 24)

JoA-dS = [s(ACSE + A/LE + A, 2)ds

= | [5(Axdydz + A,dzdx + A,dxdy)

(11. 25) S
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(11. 25)



11.6

S v
or(x,y,2)
oz
S z
X,y S 71,2
or(x,y,2)
oz v

J, 0D gy _ [ ] 22 20D gy

= J Js,, [r(x,Y,22) = r(x,y, 21)]dxdy

=JJs, r(x,y,z2)dxdy - J fs r(x,y,z1)dxdy

(11 4)

y dxdy
11.4

dxdy S n z
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S2 n Zy

rxy,2)

21 <1Z>



S 1z, : dS cos(n, z) = dxdy
S 1 : —dS cos(n, z) = dxdy

f, 28220y = fs r(x,y,22) cos(n, 2)dS + fs, F(X,Y,21) cOx(, 2)dS

82 S Zo
Sl S Z1
21,22 1
21,2 1

f, =&y = fs, T(x,y,2) cos(n,z)dS + [, r(x,y,z) cos(n,z)dS

S1 S

[, =22 gy = f, r(x,y, z) cos(n, z)dS

p(x,Y,2),q(X,Y,2)

J, E22dy = [ p(x, y,2) cos(n, X)dS
I, %dv = J5 q(x,y,2) cos(n, y)dS
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| (§+ 2+ Lydv = [[pcos(n, x) +qcos(n,y) + rcos(n, z)]dS

(11. 25)

j (g + 1 az)dv §i s(pdydz + qdzdx + rdxdy)

p,q,r A:Ax|+AyJ+Azk p:AX,q:Ay
, r= Az
o (e + 2L+ Loydv = [ [(Asdydz + Aydzdx + A,dxdy) (11. 26)
(11. 25)
J, divAdv=Js A-dS (11. 27)
divA =2 6;\; +2

11.7

an aAy aAz
oX oy oz
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A divA
divA v

divA=v-A=(Zi+5j+2K) - (A +A)j+AK)

_ 6Ax 6Ay 6Az
- X + oy + 0z

(11. 27)

v A i jSA-ds
VA= ln

J, div Adv

jsA‘dS

divA

divA=0
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divA

(11. 28)

(11. 29)



divA=0

11.8

S z=1(x,y)

n x\v,z

of
OX

cos(n, X) =
s(n. ) + [1H5)2+(5)2

of
0

cos(n,y) =
Y =7 150752
-1

cos(n, z) =
sn.2) + (15252

2 cog(n, z) = —cos(n, x)

£ cog(n, 2) = —cos(n, y)

11.9

C S

op(x,y)
oy

divv+0

S (x,Y,2)

(11. 30)

(11. 31)

p(x,y)

- 192-



s apg/,y‘) dS= s Z_SdXdy = fg Wf %dedx

= [3[p(x, y2) — p(x, y2)ldx = J2 p(x, y2)dx — I3 p(x, y1)dx

( 11.5)

2)
y2

1
y1

Jap(x,y2)dx = — I3 p(x, y2)dx = — J 5 P(X, Y)dX
—I5 p(x, y2)dx = = J ) p(x, y)dx

js 6p((3>;v) ds = — j(Z) p(x’y)dx — j(l) p(X, y)dX =- yc p(x’ y)dX (11 32)
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a(xy)

s T22dS = [, q(x,y)dy (11. 33)

(11. 32) (11. 33)

y (1) X
y (11. 33)
(11. 32)

Js(5 —22)dS = [ (pdx + qdy) (11. 34)

11. 10

S p(X,Y,2)

op(X.y.2)

3y p(x,Y,2)

Je P(X, Y, 2)dx

z =f(x,y) p pP(X, Y, (X, ¥))
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Jo p(X, Y, 2)dx = [, p(x, Y, f(x, y))dx

I c Xy
(11. 32)
op(x.y,2)
Je p(X,y, 2)dx =~ jsxy : gyyz dSyy (11. 35)
( 11.6)
z
S ; Enz |/ z=f(x,y)
c
@(;e\ X
y T
11.6
p(x.y,
Sy S xy p(;yy 2)
(11. 4)
opxy.z)  opxy.z) - opxy.z) of(xy)
oy - oy oz oy
(11. 35)
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j p(X,Y, 2)dX = — js ap(xyz) +5I0(XVZ) af(Xy)]dsxy

dS dSy n z

dSxy = cos(n, z)dS

(11. 36)

pXy.2) | Op(XY.2) af(X y)
- j\S)(y ay 0z ]dS Xy

op ofexy)

=—§s[%§cosm,z) oy cos(n, 2)]ds
(11. 31)

= fs = cog(n,y) — cos(n, 2)]dS

f P(X,y,2)dx = J5[< cos(n,y) — = cos(n, 2)]dS
A%, Y, 2), F(X,Y,2)

Jo a(x,y, 2)dy = [ [ cos(n, 2) - 5 cos(n, ¥)]dS
fo r(x,y, 2)dz = s[5 cos(n, X) — 4 cos(n, y)]dS
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(11. 36)

(11. 37)



J(pdx +qdy + rdz) = 5 [(£ — <L) cos(n, )

3 — 5 cosn,y) + (5 —5) cos(n, 2)]dS (11. 38)
p,q,r A:Ax|+AyJ+AZk
p=A g=A, r=A, (11. 38)

OA,; OAy

Jo(Axdx+Aydy + A, dz) = fs[(W — ) cos(n, X)

y . oA X
+H(EE — &2 cos(n, y) + (5 — F) cos(n, 2)]dS (11. 39)

(11.18)

J.(Axdx+Aydy +A,dz) = A-ds

(11. 39) (11. 24)

(11. 39) = JsrotA-ds

aAz aAy H an aAz H aAy an
tA= (G -+ (F — S+ (G —FHK

JoA-ds=[grotA-dS (11. 40)
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11.11

A oA oa oA, A A

oy o, oz — ox, OX oy

A rotA
rotA XY,z
oA, OAy.. L OA OA,\. ,OA 0Ax
rotA= (5 —7)i+(F — 30+ (G — 5k (11. 41)
rotA curl A
rotA = (i + 51+ FK X (Axi + Ajj + Ak) = VX A (11. 42)
(11. 40)
|' c A-ds
rOtA = AISI;r(]) AS ( 11 43)
A rot A div rot A
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div rotA = £(rot A), + 5 (rot A)y + 5 (rotA),

o ,OA OAy o ,OA oA o, OAy
=5G 2 t5FE )+ G

A, Ay A %A, Ay 9PA
=0y " oxar Ty T yox T oox T ey

=0
rotA
c
JsrotA-dS
c
J.A-ds
(11. 43)
11. 12
k C 0, p

- 199-

OAx
_6_y)
S
rotA=0
A,B,D

rotA=0



gradk=0

gradke =kgradg

grad(p + p) = gradg + grad p
grad pp = v(pp) = pve + pVp

dvC=0

divkA =kdivA
div(A+B)=divA+dvB
divpA=v-(pA)=vp-A+¢v-A

rotC=0

rotkA =krotA
rot(A+B)=rotA+rotB
rotpA =v X (pA) =vp X A+ pv X A

rot gradp =vxvp=0
divrotA=0
rot rot A =v(v-A)—v2A

rotA=0
A=vp 7

divB=0
B=rotD D
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(11. 44)
(11. 45)
(11. 46)
(11. 47)

(11. 48)
(11. 49)
(11. 50)
(11. 51)

(11.52)
(11.53)
(11. 54)
(11. 55)

(11. 56)
(11.57)
(11.58)

(11. 59)

(11. 60)
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